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BiEk FHEE BFKEZESHEREESHMES EIEER

£ [ B - BIKHE B B 2 B ® B8 B

BRI 121, 355, 400 + 15,702, 736 137,058, 136
127, 334,960 + 15, 886, 616 143,221,576 6, 163, 440

EEINCT 121, 355, 400
127, 334, 960 5,979, 560

EERE 15,702, 736
15, 886, 616 183, 880

BEEL 121,355,400 x 42.86% ( 30% + (1 - 30%)) 52,012, 924
127,334,960 x 42.86% ( 30% + (1 - 30%)) 54,575, 763 2,562, 839

BRI 137,058, 136 + 52,012, 924 189, 071, 060
143,221,576 + 54, 575, 763 197,797, 339 8,726, 279

—REEES 189,071,060 x 53.85% ( 35% =+ (1 - 35% )) -5,825 101, 808, 940
197,797,339 x 53.85% ( 35% + (1 - 35%)) -1,206 106,512, 661 4,703, 721

RHmE 189,071,060 + 101, 808, 940 290, 880, 000
197,797, 339 + 106,512, 661 304, 310, 000 13, 430, 000

HERERLE 290, 880, 000 x 10.00% 29,088, 000
304, 310,000 x 10.00% 30, 431, 000 1, 343, 000

ES EHT 290, 880, 000 + 29, 088, 000 319, 968, 000
304,310,000 + 30, 431, 000 334,741,000 14,773, 000
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B‘ERRE

SHTEERKELEBTEESHEMES (E1HER)

% 5 B - Bk B B f % i
BRI 137, 058, 136
143, 221, 576 6,163, 440
EESMBRS 137, 058, 136
143, 221, 576 6,163, 440
EESHBRS 121, 355, 400
127, 334, 960 5,979, 560
EESHNES 119, 246, 400
125, 129, 760 5, 883, 360
| BEESWBRS 24.00 4, 968, 600 119, 246, 400
B 24.00 5,213, 740 125, 129, 760 5, 883, 360
T8¢ 2,052, 000
2,145, 600 93, 600
2 T8¢ 72.00 28,500 2,052, 000
E 72.00 29, 800 2,145, 600 93, 600
%E - Bs 57, 000
59, 600 2, 600
3 & - WM& 2.00 28, 500 57, 000
= 2.00 29, 800 59, 600 2, 600
BEERE 15, 702, 736
15, 886, 616 183, 880
EBRARR 1,173,312
1,231,272 57, 960
A EHERRE 1.00 1,173, 312 1,173,312
= 1.00 1,231,272 1,231,272 57, 960
EEREREE 2,346, 624
2,462, 544 115, 920
S BEMEARR 1.00 2, 346, 624 2,346, 624
=% 1.00 2, 462, 544 2,462, 544 115, 920
EX EEEES
4,800, 000
6 ¥EBFABREHE
B 24.00 200, 000 4,800, 000




BERNRE SHTEEEKELEETEESHMER(F1EER)
% 5 s - k& B B ff & & B E
EBREBREENPLURRE
7,192, 800
T EBREBEERBLURBRS
= 1.00 7,192, 800 7,192, 800
RE 190, 000
200, 000 10, 000
8 XBRRARE 1.00 190, 000 190, 000
=% 1.00 200, 000 200, 000 10, 000
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THTEE BKELZEBMEESHPES(FIRER)

RiEREFS : 1
RI\ERAM . EBEEMENER 1A4Y
£ Ea3 R - BIRTE BT o = B Of ® B i
EEENE FhEm (A)
A 1.40 59, 600. 00 83, 440
e T FEm (C)
= 1.00 5, 130, 300. 00 5, 130, 300
=1 it 1E¥HEH : 1.008 5,213, 740.00 5,213,740
RERES : 2
RAFXLTH: ITEE 1EHY
% b R - BIRTHE B B =B B Of ® i
EERE FiEm (A)
A 0.50 59, 600. 00 29, 800
=1 it YE¥HEH ;- 1.00[E 29, 800. 00 29, 800
RiERES : 3
RIEREH : 138 - ®E 1mEHY
% b R - BIRTHE B B = B Of ® i
EERE FiEm (A)
A 0.50 59, 600. 00 29, 800
=1 it YEZERED ;- 1.00[E 29, 800. 00 29, 800
RiERES : 4
RiixaH: EHALE IEED
% b3 B - BRI B B = B O{f * i
EXARE
=® 1.00 1,231,272.00 1,231,272
=1 it YE%HERH 1,00 1,231, 272.00 1,231,272
RERES: 5
RiiFLH : BEEEARE IEED
£ Ea B - BRI B B = B Of * i
EERERARE
=® 1.00 2,462, 544.00 2,462, 544
=1 it YE¥HERH 1,00 2,462, 544.00 2,462, 544




e SHEE BKEZEHEMESSEHIER (BIRER)
RiiRES: 6
RifiFLH : EHERAEHE 1A4Y
£ Ea3 R - BIRTE BT 2 B Of ® B H %
E3 ISR
=) 4.00 50, 000. 00 200, 000
=1 &t YE¥HEH : 1.008 200, 000. 00 200, 000
RiERES : 7
RiizEH . EERAEBEERBLVESE IEED
£ Ea3 R - BIRTE BT 2 B Of ® B H %=
EBERAEBEERBLVERE FHkE (ZHR)
= 1.00 2,635, 200. 00 2,635, 200
EEREBREEHBLVERE EETE#E (ZHhK)
= 1.00 2,397, 600. 00 2,397, 600
EEREBREERBLVERE THE (ZHRX)
= 1.00 2,160, 000. 00 2,160, 000
=) it YE¥HESH 1. 00K 7,192, 800. 00 7,192, 800
RiERES: 8
REKREH : EBRELRE 1LY
% b B - IR BT 2 B Of ® 8B H &
EBHERERE
=® 1.00 200, 000. 00 200, 000
=1 it YE%HES 1,00 200, 000. 00 200, 000




